Symbol Tables with Classes




Recall Using a Symbol Table

. To process a portion of the program that
creates a scope (block statements, function
calls, classes, etc.)

. Enter a new scope.

. Add all variable declarations to the symbol table.
. Process the body of the block/function/class.

. Exit the scope.

. Much of semantic analysis is defined in terms
of recursive AST traversals like this.
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Scoping with Inheritance

Root Scope

public class Base {
public int publicBaselInt = 1;
protected int baselInt = 2;
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Disambiguating Scopes

. Maintain a second table of pointers into
the scope stack.

. When looking up a value in a specific
scope, begin the search from that scope.

. Some languages allow you to jump up to
any arbitrary base class (for example,
C++).




